The Sweet Shop
Peter goes to the sweet shop and looks at the sweets available.

They are as follows:

Mini Gems 2p


Fruit Salad 3p

Jelly Spiders 5p


Wine gums 6p

Chomp 10p


Flumps 4p

He wants to buy the following – fill in the cost

5x Fruit Salad ______

6x Wine Gums ______

7x Flumps ______

9x Jelly spider’s ______

20x mini gems ______

Peter discovers he only has 37p. How many of each sweet can he

buy with his money?

Mini Gems ______

Fruit Salad ______

Jelly Spiders ______

Wine Gums ______

Chomps ______

Flumps ______

For all of the above, show your working out.
